(YIAY) | (YIAY), HAULAB -Y-Kontrast
Ci/Cu=(YIAY)(YIAY),  normiert fiir (YIAY),

3

0

KoL Ykife2. LAKi=ad, (VAYYI(YIAY) 047

k=0, YKij=1, L*kij=-2,3, (YAY)/(YIAY),=0 * 391,590

Mygo_a= 17,778f0g=40,f4=16 $=120'=2)

1 L= A Law=300cd/h

AT 'l"'l 008 Law=300cC
'

L*=s(Y/Y,) —d (Y,=100,Y,=22,5=134,6, n=0,31, d=34,6)[
L*=r (YIY)"=d (r=s(Yy/Yn)"=79,10,L* = r-d =44,4) [1b)
Y 1dY=Y I {[(Ya/ (ns)]CY /1Y) "} [4c]
ij=0, Yuij=22, L*uij=50

100, L*kij 999(Y/AY)/(Y/AY)LI 1,59

i)=23, L*kij=50,7, (YIAY)/(YIAY),=1,00

! Anwendungs-

- ' bereich
®( 381 )
0,1 1 10 "Y,=18100 Y

2

-1 0 1Yy=22 2 logY
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